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NUMBER SEARCH PUZZLE A6

e Each of the numbers goes either horizontally from left to right (=), or

vertically downwards ({1 ).

e Can you spot all of the numbers in the grid?
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6| 1|9 3(4|5|7]|]1|8|5|5|4
3|17 |5(3(1(1 3|7 |72 |9]|6
518|663 |4]4,6|4|0|8]|0O0
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10241 31635 51769 75178
17874 33715 54579 77968
19345 41808 59865 86809
20956 45413 60738 89283
27342 46408 68910 91687
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NUMBER SEARCH PUZZLE A6 ANSWERS

1| 5T4T+5+FT5 | 1| 3T+31+F+3+5
P13/l 71 4| 8|8|=S —
11710 8|%|0|2]5% T 21811
bl Ty 3147571 + 5 15 4
15 71513 ]1]1]3]7 1’ 2 {a 3
'l; 8 Js 6| 3| 4| 41+4 + | {; 0
3/0(0|8T6T8TO0T9|4]3 {5 T
F13[4|5/4|4]4|6|0]¢% 15 +
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? 5|/ %|7|3|2—4+—++3114 :F- 4 |5
¢ 1 10l 214119 /01] 3|2 + 9| 3
$ 1| 8|2 | 678757190 $ 718
10241 31635 51769 75178
17874 33715 54579 77968
19345 41808 59865 86809
20956 45413 60738 89283
27342 46408 68910 91687
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